MOCTPOEHUE MPA®UKA
®YHKLIUU y=a(x-m)?+n




CaBur rpadouka Boonb ocu Oy

Npaduk cbyHKLUM y=X>*+3 nony4yaeTcsa us
rpacdouka cpyHKUMM y=Xx*> cABUIrOM BBEpPX Ha
3 eAVNHULbI.

Npacduk cbyHKUMM y=X>-2 nony4yaeTca us
rpacdmka (pyHKUMM y=X*> CABUrOM BHU3 Ha 2
eaAnHUUbI




CaoBur rpadpuka Baosnib ocn OX

'paduk cpyHKuMM y=(x-3)> nony4aeTtca us rpacpumka
dyHKUUN y=Xx>
cABUIroMm BnpaBo Ha 3 eAUHULbI

Npaduk cbyHKuMM y=(x+4)? nony4aetca us rpacpumka
byHKLUU y=Xx3
CpaBurom BneBo Ha 4 eaUHULbI




[ padpmK PYHKLUN y=(X-m)*+n

Npaduk cpyHKUMM y=(x-1)*+3 nonyyaercs
u3 rpadpmka PpyHKUNN y=X* cABUIOM
BrpaBo Ha 1 eAuWHULY U BBEpX Ha

3 eANHULbI




[ padPumK PYHKLUN y=-(X-m)*+n

Npaduk pyHKUMM y=-(X+m)*+3
noriy4yaeTtcsa us rpacpuka
dyHKLUUMN

y=-x* cABUIOM BI1€BO Ha 2
eAuHMUbI

U BBepX Ha 3 eAUHULbI




Aepbl Npeobpaso

OUKOB OYHKLIMN Y=2X* 1
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